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- Write the constraints for the following linear programming probl%: . (0 ot 20 L& GQ 0
18. The area of a parking lot is 600 square meters. A car requires 6 square meters. A bus requires o

30 square meters. The attendant can handle only 60 vehicles. If a car is charged $2.50 and a - 5 L ot

— o

3

bus $7.50, how many of each should be accepted to maximize income?

G4 cars, =4 \ses P-2.500 + 7.50b 5o
19. Baking a tray of corn muffins takes 4 cups of milk and 3 cups of flour. A tray of bran muffins takes 2 cups of milk and
3 cups of flour. A baker has 16 cups of milk and 15 cups of flour. He makes $3 profit per tray of corn muffins and $2

profit per tray of bran muffins. How many trays of each type of muffin should the baker make to maximize his proﬁt?
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20. A ski company makes two types of skis and has a fabrication and a finishing department. A pair of downhill skis
requires 6 hours to fabricate and 1 hour to finish. A pair of cross-country skis requires 4 hours to fabricate and 1 hour to
finish. The fabricating department has 108 hours of labor available per day. The finishing department has 24 hours of
labor available per day. The company makes a profit of $40 on each pair of downhill skis and $30 on each pair of Cross-
country skis. How many of each type should the manufacturer produce to maximize the profit? What is the max profit?"
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